1) A(-3, 4) and B(5, -2)

2)C(-15, 4)and D(-7, -2)

3) E(-70, 48) and F (- 65, 36)

4)G(17, -4) and H(-7, -14)

5) I(5, 8)and J(- 3, 2)

Ax =x, - x,
A=) =0)
Ax=5+3

Ax =8

Ax =x, - x,

Ax=(=7) - (- 15)

Ax= =-7+15
Ax=38

oY

=65 70
5

E%EE
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Ax = x, - x;
Ax=(=7)=(17)
Ax= -T7-17
Ax= -24

(- 65) - (- 70)

SOLUTIONS:
Change in x, Change in y, Distance

Ay =y, -y,
Ay (= 2) S )
Ay= -2-4
Ay= -6

Ay =y, -y
Ay=(-2)-(4)
Ay =
Ay= -6

Ay =y, -y
Ay = (36) - (48)
Ay'i=436=48
Ay= -12

Ay =y, -y,

Ay =(-14)-(-4)

Ay= -14+4
Ay= -10

Ay =y, =y
Ay =(2)-(8)
Ay=2-8
Ay= -6

d(4,B) = \/ (Ax)’ + (Ay)
- ~J@F + -6
= /64 +36
= /100
= 10 units

d(4,B) = (A +(&y)
- \J@®7 +(- 6
= 4/100

= 10 units

d4,B) = A/ (a0 + (@)}

= \/(5)2 )
=25 + 144

= /169

= 13 units

d4,B) = A (A0 + (@)’
- A 248 + (109
= 4/576 +100
= 676
= 26 units

d(4, B) = A (&) + (A’

=8 +-6
= /64 +36

= /100

= 10 units




6) K(4.8, 1.3) and L(3.6, 1.8)

7) M(14, -7) and N(20, 13)

8) 0343, 92) and R(303,32)

9) S(- 7.5, 9) and T(19.5, 4)

10) U(18.35, 14.2) and

¥ (53.35, 45.8)

Ax = x, - x,

Ax = (3.6) - (4.8)
Ax= 36-48
A==

Ax =x, - x,

Ax = (20) - (14)
Ax= 20-14
Ax=6

Ax =x, - x,

Ax = (303) - (343)
Ax = 303 - 343
Ax= -40

Ax =x, —x;

Ax = (19.5) -(-17.5)
A =1955-E75
Ax= 27

Ax =x, —x,

Ax = (53.35) - (18.35)
Ax =53.35-18.35
Ax= 35

Ay=y, -y
vl 8)E3(143)
Api= rgeiiy
Ay = 0.5

Ay =y, =4
Ap=(18)=(-1)
A=l 3
Ay = 20

Ay =y, -y,

Ay =(32) -(92)
Ay = 32-92
Ay= -60

Ay =y, -y
Ay=(4)-09)
Ay=4-9
Ay= -5

Ay =y, -y,

Ay = (45.8) - (14.2)

Ay = 4580140
Ay=31.6

d(4,B) = A] (Ax + (&)

= \/(- 1.2)° +(0.5)
= /144 +025

=+/1.65
= 1.3 units

d4,B) = A/(a0* + (@)’

= \J©? +@oy
= /36 +400

= /436
= 20.88 units

d(4,B) = AJ(Ax? + (@A)’

& \/ (- 40)° + (- 60)°
= /1600 + 3600

= 4/5200
= 72.11 wunits

d(4,B) = \/ (Ax)* +(Ay)

N
= /729 +25

= /754
= 27.46 units

d4,B) = (a0} + (@)

= \/(35)2 +(31.6)
= /1225 +998.56

= /222356
= 47.15 units



11) A(-3, 4) and C(~ 15, 4)

12) B(5, =2)and D(-17, -2))

13) E(-70, 48) and G(17,-4)

14) F(- 65, 36) and H(7, - 14)

15) I1(5, 8) and M (14, -7)

16) J(= 3, 2):.and N(20, 13)

Ax =x, —x;
Ax=(=15) = (=3)
Ax = — 1563
Ax=ti—i12

Ax =x, —x;
Ax=(=7)-(5)
-7-5
-12

o

]

Ax =x, —x,

Ax = (17) - (- 70)
Ay =170

Ax =181

Ax =x, —x,

Ax = (7) - (- 65)
A= T A6
Ax=172

Ax =x, —x;
Ax=(14) - (5)
Ax=14-5
A=Y

Ax =x, —x,

Ax = (20) - (- 3)
Ax =203
AN =

AV R
Av=idi=id)
Ay=4-4
Y=

Ay =y, -y
Ay=(-2)-(-2)
Ay= -2+2
agp= )

Ay =y, -y,

Ay =(-4)-(48)
Api='4a 4 ~ 43
Ay= =52

Ay =y, -y,
Ay = (- 14) - (36)
Ay= -14-136
Ay = -50

Ay =y, -y,
Ay e =i(8)
Ay= -T7-8
Ay= -15

Ay =y, -y,
Ay =(13) - (2)
Av—ila=)
Ay=slil

d4,C) = A[(A0? +(@p)?
& \/(_ 12)* +(0)

=4/144 +0
= +/144
= 12 units

d(B,D) = /(A% + ()
i \/(_ 12)> +(0)
=144 +0
=144
= 12 units

d(E, G) = AJ(Ax) +(ayy

- A7 + (- 52
- 7569 + 2704

=4/10273
= 101.36 units

dF H) = AJ(Ax? +(ay)
¥ \/(72)2 +(= 502
= /5184 + 2500
~ /7684

= 87.65 units

d(4,B) = A (A +(&y)
- AJO7 +(15)
= /8T + 225

= 4/306
= 17.49 units

d(4,B) = A[(Ax) + (@A)
- @3 vy
= 529 + 121

= 4/650
= 25.5 units



17) O(343, 92) and T(19.5, 4)

18) R(303, 32) and M(14, -7)

19) S(-17.5, 9) and N(20, 13)

Ax =x, - x,

Ax = (343) - (19.5)
Ax =343-19.5
Ax=323.5

Ax =x, - x,

Ax = (14) - (303)
Ax= 14 -303
Ax= -289

Ax =x, - x,

Ax = (20) - (- 17.5)
Ax=20+7.5

Ax =27.5

Ay =y, -y
Ay =(4)-(92)
Ay=4-92
Ay = -88

Ay =y, -y,
Api= (= 1) =(52)
Ay= -7-32
Ay = -39

Ay =y, -y
Ay =(13)-(9)
Ay=13-9
Ay =4

d4,B) = 7] (Ax)? +(ap)?

= \/(323.5)2 + (- 88)°
= /104.625 + 7744

= 28036105

= 335.26 units

d(4,B) = \/ (Ax)’ +(Ap)’

= /(=289 +(- 397
— Vg2l 11501

= /85 042
= 291.62 units

d(4,B) = A(ax) + (&)

= \/(27.5)2 + 4y’
= ~/756.25 + 16

= +[772.25
27.79 units



